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Q.1(a) Write the meaning of cprrélatioﬁ-and write the types of correlation and discuss it (6)
Briefly. A
(b) Find the correlation coefticient for the daté given be low. Also calculate '(7)
probable ervor (P.1.)

X: | 47 35358 |86} 62 | 68606 9F | 5i | 84
Yo 139 |65] 62 (90 82 | 7525|198 36|78

(¢) If sum of square of difference in ranks of two variables X and Y is 126 and (5)

the correlation coefficient is -0.5. Find the number of pairs,

OR
Q.1(a) Explain: (1) meaning of correlation coefficient (2) Probable error (6)
(3) Scatter diagrém
(b) Find rank correlation coefficient from the following data: (7)

X 2812712635 1394239 [37[32]22]
L Y: 140 [42 138149 40 |50 | 38 | 44 [ 45| 36
(c) Calculate coefficient of correlation from the followmg data: {5

n= 8 Z){i = 4085 Z)/i = 2]2, Z(Xl ._5] 2= 42‘ Z yi _34)_ - 60,
Z(xl 51 ()’e 34)=-l6

.2(a) Define regression co- -efficient and state their properties, _ {6)

(b) Obtain linear 1eg: ession equation equations from the followmg data and also (6)
Estimate the value of y for x = 80

X 70|70 69 § 70 |75 75 |72 74
Y 67 (68| 69 | 69 170 71 {72 |76 |
(c) Fmd equation of regression line and also estimate Estimate x wheny = 20 (5)
X Y
Mean 15 120
Varjance | 9 81
r 0.42

OR

@ (PFod




Q.2(a) Obtain the regression coefficient of y on x and x on vy for the following (6)

Data:

X: 17 118119123 |21 [20]22

Y: B34 13 11318111

(b) The equation of lines of regression for two variables x and y are 3x +2y -36 =0 (6)
and 6x +y—41=0, and the S.D. of x is 5. Find X, ¥, r and Sy. -

2
(¢} In a random sample of size 28 by, = -1.5 and E—’Zﬁ = 0.25 find ry and by (5 .

(3.3(a) Explain the meaning of time series and write its uses, ‘ (6)
(b) Find trend and short term variation by taking three yearly moving average for the (7)

following time series,

year | Profit | Year | Profit
2002 | 194 2009 | 180
2003 | 200 | 2010 189
2004 1 181 ;2011 | 232
20051 218 12012 | 239
2006 | 230 12013 ! 218
2007 | 247 2014 199
120081 252 2015 213

(c) Calculate seasonal indices from the following data: (5)

Year | Qi | O 1 Qs | Qq
2014 | 86 | 123 110 | 90
2015 | 77 | 107 | 94 78
2016 | 86 | 114 | 98 87
2017 (110 1181 106 | 86

OR
Q.3(a) Explain different types of variations observed in time serigs. (6)
(b) Fit a straight line to the following data and obtain the forecast the (7)

Profit for the year 202e.

Year | 2008 | 2010 | 2012 | 2014 | 2016 | 2018 | 2020
Profit| 60 | 62 | 70 | 68 | 74 | 80 | 84

(c) The seasonal average of four seasons Qs, Q, Qs, Qs are respectively 80,75, '(5)
55.25, 50.50 and 57.50, calculate seasonal indgx for each of the season,
Q.4 (a) Why is Fisher’s Index Number called ideal index number? {6)

|




(b) The ratio of Laspeyre’s and Paasche’s index number 28:27. Then find the

value of x from the following data.

| Price __Quantity
lteam | 2015 | 2020 | 2015 | 2020

A ] -2 10 5

B ! X 5 2

| (¢) Find index number by family budget method from the following data

Iteam 2015 2020
Quantity Price Price
A 25 16 20
B 10 12 18
C 20 25 30
D 75 20 25
E 30 5 200
OR

Q.4(a) Why index number are called the barometer of economy of a nation?

{b) From the following data, find Laspeyer’s Paasche’s and Fisher’s index

number,

ftems Base year Current year
Price | Quantity | Price | Quantity

A 3 26 5 30

B 8 15 [0 20

C 6 12 9 15

D 10 5 12 10

E 12 8 6 12

(c) Convert the following chain based index number into fixed base index

numbers.

Year 13013 12014 [ 2015 12016 ] 2017 [ 2018
Index Now | 100 [ 120 17124 | 145 | 130 | 140

(6)

(5)

(6)
(6)

(5)
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Q.1(a) ¥sdolual e wrosell Aot ysiAoll Ssui uul s

(b) ollAell HiRdcll iz Houoiuls . A GuRlc WHIRlA &l ugt 20l

X: 147153158 86,062 |68]60]91 151 84
Y. 1396510629018 | 75]25]98 3678

(0)

()

(0) A U X A, Y oll veicllsellott sHlalt dgleicllot adlloll AReU0ll 126 el (5

Anoll 2ol Heoitis -0.5 Sl Al Mssloll dvay el
- utyel
Q.1(a) oflAoll UEL yHondl: (1) ueuoluis  (2) [Qla s
| (3) Aot el

(b) ollAefl MRl 1ig suis usdcluls AL

Xo | 28127126 135139[42 39|37 32|22
Y: |40 |42 |38 |49 (4050|3844 45|36

(c) oll Aot URQUA M2 Usdctus

n=8, Tx, =408, Ty =272, T(xi-S1)* = 42, T {yi-34) = 60,
S(xi—Shyi—34)=-16 .
Q.2(a) Ralctrivitlis N2 97 uUA Rt woitifot geeedl el

(o) ol Aol HIBA el 13w Qe Aol uHls26) A, AHes x = 80
M y oft AepHilelet (Buet D,

K PT00 T 68 | T Ts 75 1724
Y [ 67|68 | 69 | 6% 1701 71 (72176

(7)

(6)

()



() Aol HBAL el Yu Batct dold wlls20l Naell, AMy y =20 (5)
HE2 x ol voprilic (Bt 2led.

.|y
Wty | 15 120

Qaret | 9 | 8

I

AU

0.2(a) R wUAet X A ¥ oll Bucd wrell Qe doluisl el (6)

[ [ 17 [18] 19123 |21 ;20 22 |
Ty T[] iBisill

0) x #Ady el A Bt el dutett 2sRE 3x+2y -36=0 el (6)
bx+y—41=08. A £,7 o r WA AHF x o \M@}t Qucat 5

gl AL s, Q.

(0) 28 5ol N AEW REAHL by =-1.5 A 520258, A Udby. ()

Al
0.3(a) ®HBs Aglal e amondl, Qott GO0 QA | (6)

(b) ol Aol w5 Al HE gL cidall A A URA 23l )
Actell acy aa Acusiellol cuue . |

af ladl | ad | o8l

20021 194 12009 | 180
2003 | 200 | 2010 | 189
2004 1 181 | 2011} 232
2005 | 218 12012} 239
2006 | 230 | 2013 | 218
2007 [ 247 120141 199
2008 | 252 (2015} 213

() ol Aol @5 Ao He Al yusuls Aok, (5)

®




ad Q| Q Qs T Qs

2013 | 109 | 131 | 107 | 95
2014 | 86 123 | 110 | 90
2015 | 77 | 107 | 94 78
2016 | 86 | 141 98 87
2007 [ 110 L HI8 4 106 | 86

wlecl
Q.3(a) AHRS AL Alat Hadl el el cuie wmestell,
(b) ol A HBA Curell Ydutie] voctD et 53 uA A GU

2026 ol ol HIE ot8le] YaloHiol 53A:

o | 2008 | 201012012 120142016 | 2018 { 2020
oigl | 60 | 62 701 68 | 74 80 84

(©) AR HAUH Qy, Qp, Qs, Qu ol 20l 3y BloysH 80,75, 5525, 50.50
Ul 57.50 B, €35 HaH HE2 N0l Yusuisoll agiddl 3,
Q4(a) (ot Yusuis weel Yusuls 3u sdaiml wd B2

(b) ARVAR & UQoll YASUIB ol 9Jahciz 28:27 et A ol Aofl HBA

Guell x ofl BH AW .
ald 3. 22l
015 2000 | 2015 72020
A 172 | 10 ] s
B P x| 5 | 2

(©) ol Aell Ml urell A5 wiBeoll A yusuis D,

o 2015 2020
23] alel @llel
A 25 16 20
B [0 12 18
- C 20 25 30
D 75 20 25
E . 30 B 20

(6)

(7)

(6)
(6)

(5)



Wl

Q4() Al HIZ Yus (s Sleugl Eaoll uddaoll uztelall sdal wd

V7

(b) ol Do BA Gurell cttallaz, Wl ual (Faretl Yus wis A,

decll | R adl Ul o
ol | awedl | oeld | oseal

A 3] 26 | 5 30
B 8 15 10 1 -20

C 6 | 12 9 5

D 10 5 12 10

E 12 8 6 12

(9 o0 URURA Y5 s AR B, Aot urell UU R0 Ad

Hus uis Wl

ad 201312014 ] 2015 {2016

2017

2018

YUs wis 160 | 120 | 124 | 145

130

140

(6)

(5)







